

円孔の解

$$\varphi(z) = Az - \frac{2\bar{B}b^2}{z}$$

$$\varphi(\bar{z}) = B\bar{z}^2 - 2Ab^2 \log \bar{z} + \frac{\bar{B}b^4}{\bar{z}^2}$$

$$A = \frac{\sigma_x + \sigma_y}{4}, \quad B = \frac{1}{2} \left(\frac{\sigma_y - \sigma_x}{2} + iT \right)$$

$$u - iv = \frac{1}{2G} \left[\frac{z-\bar{z}}{1+i\nu} \varphi - \{ \bar{z}\varphi' + \varphi' \} \right]$$

$$-g - ip = \varphi + \{ \bar{z}\varphi' + \varphi' \}$$

$$x = \text{Re} \{ \bar{z}\varphi + \varphi \}$$

$$\bar{z}\varphi + \varphi = A z \bar{z} - 2\bar{B}b^2 \frac{\bar{z}}{z} + B\bar{z}^2 - 2Ab^2 \log \bar{z} + \frac{\bar{B}b^4}{\bar{z}^2}$$

$$= AR^2 + BR^2 e^{2i\theta} - 2Ab^2 (\log r + i\theta) + \bar{B}b^2 \left(\frac{b^2}{r^2} - 2 \right) e^{-2i\theta}$$

$1 + \cos 2\theta = 2 \cos^2 \theta$

$$AR^2 + BR^2 e^{2i\theta} = \left(\frac{\sigma_x + \sigma_y}{4} + \frac{\sigma_y - \sigma_x}{4} e^{2i\theta} \right) r^2 + \frac{1}{2} T \cdot r^2 e^{2i\theta}$$

$$\text{Re} \{ \quad \} = \frac{\sigma_y}{2} x^2 + \frac{\sigma_x}{2} y^2 = T(xy) \quad \text{///}$$

$$u^{(p)} = -2Ab^2 \log r - b^2 \left(2 - \frac{b^2}{r^2} \right) \left\{ B_r \cos 2\theta + B_i \sin 2\theta \right\} \quad \text{///}$$

$$u - iv = \frac{1}{2G} \left[\frac{z-\bar{z}}{1+i\nu} \left(A\bar{z} - \frac{2\bar{B}b^2}{z} \right) - \left\{ \bar{z} \left(A + \frac{2\bar{B}b^2}{z^2} \right) + 2Bz - 2Ab^2 \frac{z}{z^3} \right\} \right]$$

$$= \frac{1}{2G} \left[\left(\frac{3-\nu}{1+i\nu} A\bar{z} - \bar{z}A - 2Bz \right) - \frac{3-\nu}{1+i\nu} \frac{2\bar{B}b^2}{z} - \frac{\bar{z}}{z^2} 2\bar{B}b^2 + \frac{2Ab^2}{z} + \frac{2\bar{B}b^4}{z^3} \right]$$

$$= \frac{1}{2G} \left[\frac{2(1-\nu)}{1+i\nu} A(x-iy) - 2B(x+iy) \right]$$

$$- \frac{3-\nu}{1+i\nu} \frac{2b^2}{r} (B_r \cos 2\theta + B_i \sin 2\theta + i B_r \sin 2\theta + i B_i \cos 2\theta) \quad \text{///}$$

-(1-v)

$$\frac{z(1-v)}{1+v} A - 2B = -iT + \frac{1-v}{2(1+v)} (\sigma_x + \sigma_y) - \frac{\sigma_y - \sigma_x}{2} = -iT + \frac{\sigma_x}{2(1+v)} - \frac{v\sigma_y}{1+v}$$

$$\frac{2(1-v)}{1+v} A + 2B = +iT + \dots + \dots = iT + \frac{\sigma_y - v\sigma_x}{1+v}$$

$$\frac{2A \cdot r^2}{2} - \frac{3-v}{1+v} \frac{2B \cdot r^2}{2} = 2 \frac{A \cdot r^2}{r} (\cos\theta - i \sin\theta) - \frac{2(3-v) r^2}{(1+v)r} \{ (B_r + i B_i) (\cos\theta + i \sin\theta) \}$$

$$= \frac{2r^2 \cos\theta}{r} \left[A - \frac{3-v}{1+v} (B_r + i B_i) \right]$$

$$+ \frac{2i r^2 \sin\theta}{r} \left[A + \frac{3-v}{1+v} (B_r + i B_i) \right]$$

$$+ \frac{2B \cdot r^2}{2} - \frac{3-v}{2} 2B \cdot r^2 = 2 \frac{B \cdot r^2}{r} \left[\frac{r^2}{r^2} - 1 \right] e^{-3i\theta}$$

4
1+v - (3-v) = -2+2v

$$A + \frac{3-v}{1+v} B_r = \frac{\sigma_x + \sigma_y}{2} + \frac{3-v}{1+v} \frac{(\sigma_y - \sigma_x)}{2} = \frac{-\sigma_y(1-v)}{2(1+v)} + \frac{\sigma_x}{(1+v)}$$

$$\left. \begin{aligned} & \frac{\sigma_y}{1+v} - \frac{\sigma_x(1-v)}{2(1+v)} \end{aligned} \right\}$$

$$u - iv = \frac{1}{2G} \left[x \left\{ \frac{\sigma_x - v\sigma_y}{1+v} - iT \right\} - iy \left\{ \frac{\sigma_y - v\sigma_x}{1+v} + iT \right\} \right]$$

$$+ \frac{2r^2 \cos\theta}{2r(1+v)} \left\{ 2\sigma_x - \sigma_y(1-v) - \frac{(3-v)}{1+v} iT \right\}$$

$$- \frac{i 2r^2 \sin\theta}{r(1+v)} \left\{ 2\sigma_y - (1-v)\sigma_x + \frac{IT(3-v)r}{2(1+v)} \right\}$$

$$+ \frac{2r^2}{r} \left(\frac{r^2}{r^2} - 1 \right) \left\{ B_r \cos 3\theta - B_i \sin 3\theta + i \left(-B_r \sin 3\theta - B_i \cos 3\theta \right) \right\}$$

$$\frac{1}{\pi} \int_0^{2\pi} (u - iv) \cos\theta d\theta = \frac{r}{2G} \left[\left\{ \frac{\sigma_x - v\sigma_y}{1+v} - iT \right\} + \frac{1}{1+v} \left\{ 2\sigma_x - \sigma_y(1-v) - \frac{(3-v)}{1+v} iT \right\} \right]$$

$$= \frac{r}{G} \left[3\sigma_x - \sigma_y - \frac{(4-v)}{2} iT \right]$$

$$\frac{1}{\pi} \int_0^{2\pi} (u - iv) \sin\theta d\theta = -\frac{i r}{2G} \left[\left\{ \frac{\sigma_y - v\sigma_x}{1+v} + iT \right\} + \frac{1}{1+v} \left\{ 2\sigma_y - (1-v)\sigma_x + \frac{3-v}{2} iT \right\} \right]$$

$$= \frac{-i r}{G} \left[-\sigma_y + (1-2v)\sigma_x - \dots \right]$$

積用孔の解.

$$\bar{\Phi}(s) = \frac{c}{2} A s - \left(\frac{c}{2R^2} A + \bar{B}c \right) \frac{R^2}{s}$$

$$X(s) = \left(A \frac{c}{2R^2} + \bar{B}c \right) s - \frac{c}{2} A \frac{R^2}{s} = \bar{z} \bar{\Phi}^T + \psi^T$$

$$z = \bar{z} = \frac{c}{2} \left(s + \frac{1}{s} \right), \quad s = R e^{i\theta} \text{ 加 } \theta \text{ 積用}$$

$$\therefore a = \frac{c}{2} \left(R + \frac{1}{R} \right), \quad b = \frac{c}{2} \left(R - \frac{1}{R} \right)$$

$$\bar{\Phi}^z = \bar{\Phi}' \frac{ds}{dz} = \left\{ \frac{c}{2} A + \left(\frac{c}{2R^2} A + \bar{B}c \right) \frac{R^2}{s^2} \right\} \frac{1}{\frac{c}{2} \left(1 - \frac{1}{R^2} \right)}$$

$$\psi^z = X - \bar{z} \bar{\Phi}^z = X - \left(\frac{R^2}{s} + \frac{s}{R^2} \right) \left\{ \frac{c}{2} A + \left(\frac{c}{2R^2} A + \bar{B}c \right) \frac{R^2}{s^2} \right\}$$

$$z \rightarrow \infty \quad z = \frac{c}{2} s + \frac{c}{2s}, \quad \frac{c}{2} s = z - \frac{c}{2s} \Rightarrow z - \frac{c^2}{4z}$$

$$\begin{aligned} \bar{\Phi} &\rightarrow A \left(z - \frac{c^2}{4z} \right) - \left(\frac{c}{2R^2} A + \bar{B}c \right) \frac{cR^2}{2z} \\ &= Az - \left(A \frac{c^2}{2} + \frac{c^2}{2} R^2 \bar{B} \right) \frac{1}{z} \end{aligned}$$

$$\begin{aligned} X &\rightarrow \left(\frac{A}{R^2} + 2B \right) \left(z - \frac{c^2}{4z} \right) - \frac{c^2 A R^2}{4z} \\ &= \left(\frac{A}{R^2} + 2B \right) z - \frac{c^2}{4z} \left(A R^2 + \frac{A}{R^2} + 2B \right) \end{aligned}$$

$$\bar{z} \left(\frac{R^2}{s} \right) \bar{\Phi}^z = \frac{c}{2} \left(\frac{R^2}{s} + \frac{s}{R^2} \right) \left\{ A + \frac{c^2}{2R^2} (A + \bar{B}R^2) \right\}$$

$$\begin{aligned} &\left\{ \frac{z - \frac{c^2}{4z}}{R^2} + \frac{c^2 R^2}{4z} \right\} \\ &\left\{ \frac{z}{R^2} + \frac{c^2}{4z} \left(R^2 - \frac{1}{R^2} \right) \right\} \left\{ A + \frac{c^2}{2} (A + \bar{B}R^2) \right\} \\ &= \frac{A}{R^2} z + \frac{1}{2} \left\{ \frac{c^2}{4} \left(R^2 - \frac{1}{R^2} \right) A + \frac{c^2}{R^2} (A + \bar{B}R^2) \right\} + \dots \end{aligned}$$

$$\psi^z = 2Bz$$

$$x \pm y \rightarrow \frac{c^2}{4} e^{2\alpha}, \quad \alpha = \sqrt{\frac{4\mu}{3\mu + c^2}} \quad \alpha = \frac{1}{2} \sqrt{\frac{4\mu}{3\mu + c^2}}$$

$$x = c \cosh \alpha \cos \beta, \quad y = c \sinh \alpha \sin \beta, \quad k^2 \rightarrow \frac{c^2 e^{2\alpha}}{4} \cos^2 \beta$$

$$a = c \cosh \alpha_0, \quad b = c \sinh \alpha_0, \quad a^2 - b^2 = c^2$$

$$a + b = c e^{\alpha_0}, \quad \left(\frac{a+b}{c}\right)^2 = e^{2\alpha_0}$$

$$1 + 2e^{2\alpha_0} = 1 + 2 \frac{(a+b)^2}{c^2} = \dots, \quad \cosh 2\alpha_0 = \cosh^2 \alpha_0 + \sinh^2 \alpha_0 = \frac{a^2}{c^2} + \frac{b^2}{c^2}$$

$$\cosh 2\alpha_0 + 1 = \frac{a^2 + b^2 + a^2 + b^2}{c^2} = \frac{2a^2 + 2b^2}{c^2}$$

$$1 + 2e^{2\alpha_0} = \frac{1}{8} [a^2 + b^2 + 2(a+b)^2] = \frac{3a^2 + b^2 + 4ab}{c^2}$$

$$F = \frac{I c^3}{16} [\bar{F}_1 - (1 + 2e^{2\alpha_0}) \bar{F}_2 + e^{2\alpha_0} \bar{F}_3 - 4(1 + \cosh 2\alpha_0) \bar{F}_4 + \bar{F}_5]$$

$$\bar{F}_1 = e^{2\alpha} + \cos 2\beta$$

$$\bar{F}_3 = e^{2\alpha} \cos 2\beta$$

$$\bar{F}_2 = e^{-2\alpha} + \cos 2\beta \rightarrow \cos 2\beta$$

$$\bar{F}_4 = e^{-2\alpha} \cos 2\beta \rightarrow 0$$

$$\begin{aligned} \bar{F}_1 + \bar{F}_3 &= e^{2\alpha} (2 \cos^2 \beta + 1 + \cos 2\beta) \\ &\rightarrow \frac{8X^2}{c^2} + \cos 2\beta \end{aligned}$$

$$F = \frac{I c^3}{16} \left[\frac{8X^2}{c^2} + \cos 2\beta - (1 + 2e^{2\alpha_0}) \cos 2\beta - 4\alpha (1 + \cosh 2\alpha_0) \right]$$

$$= \frac{I X^2}{2} - \frac{e^{2\alpha_0}}{8} I c^3 \cos 2\beta - \frac{(1 + \cosh 2\alpha_0) I c^3}{4} [\alpha]$$

$$\frac{(1 + \cosh 2\alpha_0)}{4} = \frac{a^2}{2c^2}, \quad \frac{e^{2\alpha_0}}{8} = \frac{(a+b)^2}{8c^2} \rightarrow \frac{a^2}{2c^2}$$

$$U(p, q) = \frac{1}{2\pi} \left[y\theta - \frac{1-\nu}{2} x \ln r \right]$$

$$V(p, q) = \frac{-1}{2\pi} \left[x\theta + \frac{1+\nu}{2} y \ln r \right]$$

$$\frac{\partial U}{\partial x} = \frac{1}{2\pi} \left[y\theta_x - \frac{1-\nu}{2} \ln r - \frac{1-\nu}{2} \frac{x^2}{r^2} \right]$$

$$\frac{\partial U}{\partial y} = \frac{1}{2\pi} \left[\theta + \frac{y}{r^2} - \frac{1-\nu}{2} \frac{xy}{r^2} \right] \quad \theta_y = \frac{x}{r^2}$$

$$V_x = -\frac{1}{2\pi} \left[\theta + \frac{x}{r^2} + \frac{1+\nu}{2} \frac{xy}{r^2} \right] \quad \theta_x = -\frac{y}{r^2}$$

$$V_y = \frac{-1}{2\pi} \left[x\theta_y + \frac{1+\nu}{2} \ln r + \frac{1+\nu}{2} \frac{y^2}{r^2} \right]$$

$$U_x = \frac{1}{2\pi} \left[-\frac{y^2}{r^2} - \frac{1-\nu}{2} \frac{x^2}{r^2} - \frac{1-\nu}{2} \ln r \right]$$

$$V_y = -\frac{1}{2\pi} \left[\frac{x^2}{r^2} + \frac{1+\nu}{2} \frac{y^2}{r^2} + \frac{1+\nu}{2} \ln r \right]$$

$$U_y = \frac{1}{2\pi} \left[\theta + \frac{1+\nu}{2} \frac{xy}{r^2} \right] \quad \frac{1-\nu}{2} - 1 = \frac{-(1+\nu)}{2}$$

$$V_x = \frac{1}{2\pi} \left[-\theta + \frac{1+\nu}{2} \frac{xy}{r^2} \right] \quad \frac{1-\nu}{2} \ln r \quad \frac{1+\nu}{2} \ln r \quad U_x \theta_y + U_y \theta_x$$

$$U_x = -\frac{1}{2\pi} \left[\frac{y^2}{r^2} + \frac{1-\nu}{2} \frac{x^2}{r^2} + \frac{1-\nu}{2} \ln r \right]$$

$$V_y = -\frac{1}{2\pi} \left[\frac{x^2}{r^2} + \frac{1+\nu}{2} \frac{y^2}{r^2} + \frac{1+\nu}{2} \ln r \right]$$

$$\int \left[p(\rho x + q y) + q(\rho x + q y) \right] ds \quad \int (\rho x + q y) ds$$

$$\theta(\rho y - q x) ds = \theta M = 0$$

$$U_x = -\frac{1}{2\pi} \left[\frac{1}{2} \left(1 + \frac{1-\nu}{2}\right) + \frac{A}{\cancel{2}} \left(\frac{1-\nu}{2} - 1\right) \cos 2\theta + \frac{1-\nu}{2} \log r \right]$$

$$V_y = -\frac{1}{2\pi} \left[\frac{B-\nu}{2A} + \frac{1}{2} \left(1 - \frac{1-\nu}{2}\right) \cos 2\theta + \frac{1-\nu}{2} \log r \right]$$

$$\oint_C \Gamma = \int_C U y_s ds = \int_C (u_0 + u) y_s ds$$

$$u_0 = \frac{-\nu X}{E}$$

$$y_s = -p_1 = -\frac{\partial^2 z(\frac{y^2}{2})}{\partial s \partial y}, \quad \theta_1 = 0, \quad u_{10} = \frac{X}{E}, \quad v_{10} = -\frac{\nu X}{E}$$

$\bar{y} =$

$$\bar{\Gamma} = \int_C (u y_s + \frac{\nu}{E} X \kappa_n) ds = \int_C (u y_s + v_{10}^0 - \frac{u_{10} p}{E} - \frac{u_{10} q}{E}) ds$$

$$= - \int_C (y u_s + \frac{X f_{ys} + \nu y f_{xs}}{E}) ds$$

$$u_s = u_x x_s + u_y y_s = \bar{\xi}_x x_s + \bar{\xi}_y y_s - \frac{1}{2q} (f_{xx} x_s + f_{xy} y_s)$$

$$= \bar{\xi}_s - \frac{1}{2q} f_{xs}$$

$$\int_C y u_s ds = \int_C (y \bar{\xi}_s - \frac{y}{2q} f_{xs}) ds$$

$$\bar{\Gamma} = - \int_C [y \bar{\xi}_s + \frac{X f_{ys} - y f_{xs}}{E}] ds = - \int_C [y \bar{\xi}_s + \frac{y s f_x - X s f_y}{E}] ds$$

$$= - \int_C [y \bar{\xi}_s + \frac{f_x}{E}] ds = \frac{A}{2}$$

$$- \int_C v x_s ds = \frac{A}{2}$$

$$2\pi \zeta_x = -B \frac{x^2 - y^2}{r^4} + C \frac{2xy}{r^4} = \frac{\partial}{\partial x} \left(B \frac{x}{r^2} - C \frac{y}{r^2} \right)$$

$$2\pi \eta_x = +B \frac{2xy}{r^4} - \frac{C(x^2 - y^2)}{r^4} = \frac{\partial}{\partial x} \left(B \frac{y}{r^2} - C \frac{x}{r^2} \right)$$

$$\frac{\partial}{\partial x} \frac{x}{r^2} = \frac{1}{r^2} - \frac{2x^2}{r^4} = \frac{y^2 - x^2}{r^4}$$

$$\frac{\partial}{\partial x} \frac{y}{r^2} = -\frac{2xy}{r^4}$$

$$-y + i'x = -i(x - iy)$$

$$2\pi \zeta = \frac{Bx - Cy}{r^2}, \quad 2\pi \eta = -\frac{By + Cx}{r^2}$$

$$2\pi (\zeta + i\eta) = \frac{B - i' C}{z}$$

$$C(y + ix)$$

$$\zeta = \frac{1}{2\pi r} (B \cos \theta - C \sin \theta)$$

$$\frac{y^2 - x^2}{r^2} = -\frac{x^2 - y^2}{r^2}$$

$$\zeta_s = \frac{1}{2\pi r^2} (-B \sin \theta - C \cos \theta)$$

$$2\pi \zeta_y = -\frac{2Bxy}{r^4} + C \frac{x^2 - y^2}{r^4}$$

$$\zeta = \frac{-1}{2\pi r} (-B \sin \theta + C \cos \theta)$$

$$C_1 = -\pi a^2, \quad C_3 = 3\pi a^2, \quad C_2 = 0$$

$$A \quad \frac{A}{4\pi} = \frac{a^2}{2}, \quad \frac{B}{8\pi} = \frac{a^2}{2}, \quad A = 2\pi a^2, \quad B = 4\pi a^2, \quad C = 0$$

$$\text{Find } \frac{A}{4\pi} = \frac{a^2}{2}, \quad \frac{B}{8\pi} = \frac{(a+k)^2}{8}, \quad \left\{ \begin{array}{l} \frac{C_3}{4\pi} = \frac{a^2}{2} + \frac{(a+k)^2}{4} \\ \frac{C_1}{4\pi} = \frac{a^2}{2} - \frac{(a+k)^2}{4} \end{array} \right. \quad \frac{3a^2 + b^2 + 2ab}{4}$$

$$\left\{ \begin{array}{l} \frac{C_1}{4\pi} = \frac{a^2}{2} - \frac{(a+k)^2}{4} \\ \frac{C_2}{4\pi} = 0 \end{array} \right., \quad C_2 = 0$$

$$J = \frac{v^2}{8\pi} \log r$$

$$S_x = \frac{1}{8\pi} [2x \log r + x]$$

$$S_y = \frac{1}{8\pi} [2y \log r + y]$$

$$S_{xx} = \frac{1}{4\pi} \left[\log r + \frac{1}{2} + \frac{x^2}{r^2} \right] = \frac{1}{4\pi} \left[\log r + \frac{1 + \cos 2\theta}{2} + \frac{1}{2} \right]$$

$$S_{xy} = \frac{xy}{4\pi r^2} = \frac{r^2 \sin 2\theta}{8\pi}$$

$$S_{yy} = \frac{1}{4\pi} \left[\log r + \frac{1}{2} + \frac{y^2}{r^2} \right] = \frac{1}{4\pi} \left[\log r - \frac{\cos 2\theta}{2} + 1 \right]$$

$$f \Rightarrow -C_1 S_{yy} - C_2 S_{xy} - C_3 S_{xx}$$

$$\left. \begin{array}{l} C_1 = \int U y_s ds \\ C_2 = \int (U x_s - V y_s) ds \\ C_3 = -\int V x_s ds \end{array} \right\} \begin{array}{l} A = \int (U y_s - V x_s) ds \\ B = -\int (U y_s + V x_s) ds \\ C_2 = C \end{array}$$

$$f \Rightarrow -\frac{C_1}{4\pi} \left(\log r - \frac{\cos 2\theta}{2} \right) - \frac{C_2}{8\pi} \sin 2\theta - \frac{C_3}{4\pi} \left(\log r + \frac{\cos 2\theta}{2} \right)$$

$$= -\frac{(C_1 + C_3)}{4\pi} \log r + \frac{\cos 2\theta}{8\pi} (C_1 - C_3) - \frac{C_2}{8\pi} \sin 2\theta$$

$$A = (C_1 + C_3), \quad B = C_3 - C_1, \quad \frac{C_2}{2} = C$$

$$= -\frac{1}{4\pi} \left[A \log r + \frac{B}{2} \cos 2\theta + \frac{C}{2} \sin 2\theta \right]$$

$$C_3 = (A+B)/2, \quad C_1 = A-B$$

$$\bar{L} = V(F, \bar{F}) (x x_n + y y_n) - \left\{ \bar{F}_{ys} (x U_x + y U_y) - \bar{F}_{xs} (x V_x + y V_y) \right\}$$

$$I = \frac{1}{2} \left[\bar{F}_{yy} U_x + \bar{F}_{xx} V_y - \bar{F}_{xy} (U_y + V_x) \right] - \left\{ \dots \right\}$$

$$F = \frac{x^2}{2} + f, \quad U = -\frac{v x}{E} + u, \quad V = \frac{y}{E} + v$$

$$I = \frac{1}{2} \left[f_{yy} \left(-\frac{v}{E} + u_x \right) + (1 + f_{xx}) \left(\frac{1}{E} + v_y \right) - f_{xy} (u_y + v_x) \right]$$

$$- \left[f_{ys} \left\{ x \left(-\frac{v}{E} + u_x \right) + y u_y \right\} - (x_s + f_{xs}) \left\{ x v_x + y \left(\frac{1}{E} + v_y \right) \right\} \right]$$

$$= \frac{1}{2} \left[-\frac{v}{E} f_{yy} + \frac{1}{E} + \frac{f_{xx}}{E} + v_y \right] (x x_s + y y_s) + O(\epsilon^2)$$

$$- \left[-\frac{v x}{E} f_{ys} - x x_s v_x - \frac{x y}{E} f_{xy} - x_s y v_y - \frac{y}{E} f_{xs} \right]$$

$$= \frac{(x y_s + y x_s)}{2E} + \frac{y x_s}{E} + \frac{1}{2} \left(v_y + \frac{f_{xx} - v f_{yy}}{E} \right) (x y_s - y x_s)$$

$$+ \frac{v x}{E} f_{ys} + \frac{y f_{xs}}{E} + x_s (x v_x + y v_y)$$

$$v_y = \eta_y - \frac{f_{yy}}{2E}$$

$$v_x = \eta_x - \frac{f_{xx}}{2E}$$

$$= \frac{x y_s + y x_s}{2E} + \frac{1}{2E} (f_{xx} - 2 f_{yy}) (x y_s - y x_s) + \frac{1}{E} (v x f_{ys} + y f_{xs})$$

$$+ x x_s v_x + v_y (x y_s + y x_s)$$

$$v x f_{ys} + y f_{xs} = v x (f_{yy} y_s + f_{yx} x_s) + y (f_{xx} x_s + f_{xy} y_s)$$

$$x x_s v_x + \frac{v y}{2} (x y_s + y x_s) = x x_s \eta_x + \frac{(x y_s + y x_s)}{2} \eta_y - \frac{1}{2E} \left[x x_s f_{xy} + \frac{(x y_s + y x_s)}{2} f_{yy} \right]$$

$$= \frac{v}{2} \cos^2 \theta (\eta_x + \eta_y) + \frac{v}{2} \eta_x - \frac{v}{2E} \left[f_{xy} \cos^2 \theta + \frac{\cos^2 \theta}{2} f_{yy} \right]$$

$$I = I_0 + I_1 + I_2 + I_3$$

$$I_1 = \frac{\nu}{2E} (f_{xx} - \nu f_{yy})$$

$$I_2 = \frac{1}{E} (\nu x f_{ys} + y f_{xs}) \rightarrow -\frac{1}{E} (\nu f_y x_s + f_x y_s)$$

$$I_3 = x x_s \nu_x + \frac{\nu y}{z} r \cos 2\theta = r \left[\nu_x r \cos^2 \theta + \frac{\nu y}{z} \cos 2\theta \right]$$

$$= I_4 + I_5$$

$$I_4 = \frac{\nu}{2} \left[-\nu_x r \cos 2\theta + \nu_y r \cos 2\theta \right]$$

$$I_5 = -\frac{\nu}{2E} \left[f_{xy} r \cos 2\theta + \frac{\cos 2\theta}{2} f_{yy} \right]$$

$$\int_R I_1 ds = 0 = \int I_0 ds$$

$$\int I_2 ds = -\frac{1}{E} \int (f_x y_s + \nu f_y x_s) ds = \frac{1}{\pi} \left[\pi A + \frac{B}{2} \pi - \nu \pi A + \frac{\nu}{2} \pi B \right]$$

$$= \frac{1}{4} \left[(1-\nu)A + \frac{(1+\nu)}{2} B \right]$$

$$\int I_4 ds = \frac{1}{2} [B] - \frac{(1+\nu)}{2E} \int f_{xy} r \cos 2\theta ds = \frac{(1+\nu)}{8} A +$$

$$\int I_5 ds = \frac{(1+\nu)}{2E} \int f_{yy} r \cos 2\theta ds = -\frac{(1+\nu)}{8} (-A + B)$$

$$\int I ds = \frac{A}{2} + \frac{B}{2} \frac{(1+\nu)}{2}$$

$$\frac{\partial}{\partial x} = \frac{\partial r}{\partial x} \frac{\partial}{\partial r} + \frac{\partial \theta}{\partial x} \frac{\partial}{\partial \theta} = \cos \theta \frac{\partial}{\partial r} - \frac{\sin \theta}{r} \frac{\partial}{\partial \theta} \quad \frac{\partial x}{\partial r} = \cos \theta$$

$$\frac{\partial}{\partial y} = \sin \theta \frac{\partial}{\partial r} + \frac{\cos \theta}{r} \frac{\partial}{\partial \theta} \quad \frac{\partial y}{\partial r} = \sin \theta$$

$$f_x = f_r \cos \theta - \frac{\sin \theta}{r} f_\theta$$

$$f_y = f_r \sin \theta + \frac{\cos \theta}{r} f_\theta$$

$$f_{xx} = \left(\cos \theta \frac{\partial}{\partial r} - \frac{\sin \theta}{r} \frac{\partial}{\partial \theta} \right) \left(f_r \cos \theta - \frac{\sin \theta}{r} f_\theta \right)$$

$$= \cos^2 \theta f_{rr} + \frac{\sin^2 \theta}{r} f_{rr} - \frac{2 \sin \theta \cos \theta}{r} f_{r\theta} + \frac{2 \cos \theta \sin \theta}{r^2} f_\theta + \frac{\sin^2 \theta}{r^2} f_{\theta\theta}$$

$$f_{xy} = \sin \theta \left(f_{rr} \cos \theta + \frac{\sin \theta}{r^2} f_\theta - \frac{\sin \theta}{r} f_{r\theta} \right) + \frac{\cos \theta}{r} \left(f_r \sin \theta + \frac{\cos \theta}{r} f_\theta - \frac{\cos \theta}{r} f_{r\theta} - \frac{\sin \theta}{r} f_{\theta\theta} \right)$$

$$= f_{rr} \sin \theta \cos \theta + \frac{\cos^2 \theta}{r} f_{r\theta} - \frac{\sin \theta \cos \theta}{r^2} f_{\theta\theta} + \frac{\sin \theta \cos \theta}{r} f_r - \frac{\cos^2 \theta}{r^2} f_\theta$$

$$f_{yy} = \sin^2 \theta \left(f_{rr} \sin \theta - \frac{\cos \theta}{r^2} f_\theta + \frac{\cos \theta}{r} f_{r\theta} \right)$$

$$+ \frac{\cos^2 \theta}{r} \left(f_r \cos \theta + f_r \sin \theta - \frac{\sin \theta}{r} f_\theta + \frac{\cos \theta}{r} f_{\theta\theta} \right)$$

$$= f_{rr} \sin^2 \theta + \frac{\sin^2 \theta}{r} f_{r\theta} + \frac{\cos^2 \theta}{r^2} f_{\theta\theta}$$

$$+ \frac{\cos^2 \theta}{r} f_r - \frac{\sin^2 \theta}{r} f_\theta$$

$$\begin{aligned} \frac{4\pi}{E} f_{xx} &= \frac{A}{r^2} \cos^2\theta + \frac{\sin^2\theta}{r^2} (2B \cos 2\theta + 2C \sin 2\theta) \\ &+ \frac{\sin^2\theta}{r} \left(-\frac{A}{r}\right) + \frac{2\cos^2\theta}{r^2} (B \sin 2\theta - C \cos 2\theta) \\ &= \frac{A}{r^2} \cos^2\theta + \frac{B}{r^2} (\cos^2\theta (1 - \cos 2\theta) + \sin^2\theta \cos 2\theta) \\ &+ \frac{C}{r^2} (\sin^2\theta (1 - \cos 2\theta) - \sin^2\theta \cos 2\theta) \end{aligned}$$

$$\begin{aligned} \frac{4\pi}{E} f_{yy} &= \frac{A}{r^2} \sin^2\theta + \frac{\cos^2\theta}{r^2} (2B \cos 2\theta + 2C \sin 2\theta) - \frac{A}{r^2} \cos^2\theta \\ &- \frac{\sin^2\theta}{r} (B \sin 2\theta - C \cos 2\theta) \\ &= \frac{-A}{r^2} \cos^2\theta + \frac{B}{r^2} (\cos^2\theta (1 + \cos 2\theta) - \sin^2\theta \cos 2\theta) \\ &+ \frac{C}{r^2} (\sin^2\theta (1 + \cos 2\theta) + \sin^2\theta \cos 2\theta) \end{aligned}$$

$$\frac{4\pi}{E} \Delta f = \frac{2B}{r^2} \cos 2\theta + \frac{2C}{r^2} \sin 2\theta$$

$$\begin{aligned} \frac{4\pi}{E} f_{xy} &= \frac{A}{r^2} \sin\theta \cos\theta - \frac{\sin^2\theta}{r^2} (B \cos 2\theta + C \sin 2\theta) \\ &+ \frac{A}{r^2} \sin\theta \cos\theta + \frac{\cos^2\theta}{r^2} (-B \sin 2\theta + C \cos 2\theta) \\ &= \frac{A}{r^2} \sin 2\theta - \frac{B}{r^2} \sin 4\theta + \frac{C}{r^2} \cos 4\theta \end{aligned}$$

$$\frac{4\pi}{E} f_x = -\frac{A}{r} \cos\theta - \frac{\sin\theta}{r} (B \sin 2\theta - C \cos 2\theta)$$

$$\begin{aligned} \frac{4\pi}{E} f_y &= -\frac{A}{r} \sin\theta + \frac{\cos\theta}{r} (B \sin 2\theta - C \cos 2\theta) \\ &+ \frac{B}{2r} (\sin 3\theta + \sin\theta) \end{aligned}$$